Maths questions, 1-15

Section 2 Test 11

1. Write this number in figures: three thousand and forty-two.
2400 = _ hundreds

£5.00 - £3.99 =

80 min+40min=___h___min

23+600g=__kg__g

1and 1/10 + 9/10 =

2 FIFTIES + 4 TWENTIES + 4 FIVES =

(6xbB)+(8x7)=
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7 metres cost 91p. Im will cost _p.

10. 75 divided by 8 = ____remainder ___
11. 2000+ ____ +6=2076

12. £0.35+£0.26 + £0.37=___p

13. What number is 100 times greater than 11?
14, How many millimetres are there in the sum of 7 3 and 2
3?

15.  Divide 1040 by 10.



